Chapter 3-5 Problem II (+1)



Name _____________________

1. A 5.5-kg watermelon is pushed across a table. If the acceleration of the watermelon is 4.2 m/s2 to the right, find the net external force exerted on the watermelon.

2. The net external force on the propeller of a 0.75-kg model airplane is 17 N forward. What is the acceleration of the airplane?

3. The net external force on a golf cart is 390 N north. If the cart has a total mass of 270 kg, what are the magnitude and direction of its acceleration?

4. A car has a mass of 1.50 x 103-kg. What force is required to accelerate the car at 4.5 m/s2 to the east?

5. A 2.0 kg mass starts from rest at the top of an inclined plane 85 cm long and slides down to the bottom in 0.50 s. What net external force acts on the mass along the incline?

6. A ball pushed with a force of 13.5 N accelerates at 6.5 m/s2 to the right. What is the mass of the ball?

7. In the district soccer championship finals, Elizabeth kicks a 0.600-kg soccer ball with a force of 80.0 N. How much does she accelerates the soccer ball from rest in the process?

8. Carter’s favorite ride at Playland Amusement Park is the rollercoaster. The rollercoaster car and passengers have a combined mass of 1620 kg, and they descend the first hill at an angle of 45.0( to the horizontal. With what force is the rollercoaster pulled down the hill?

9. A trunk weighing 562 N is resting on a plane inclined 30.0( above the horizontal. Find the components of the weight force parallel and perpendicular to the plane.

10. Barker is unloading 20-kg bottles of water from his delivery truck when one of the bottles tips over and slides down the truck ramp that is inclined at an angle of 30( to the ground. What amount of force moves the bottle down the ramp?

Sample Problem:

Rose is sledding down an ice-covered hill inclined at an angle of 15( with the horizontal. If Rose and the sled have a combined mass of 54.0 kg, what is the force pulling them down the hill?

